SOLUTIONS

Singupore Mauth Practice Level 4A

Unit 1; Whole Numbers (Part 1)
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20.
21.
22,
23.
24,
25,
26.
27.
28.
29.
30.
31,
32.
33.
34.
35.
36,
37.
38.
39,

40.

twenty-three thousand, seven hundred, one
forly thousand, eight hundred, twenty-five
sixty-eight thousand, ninety
fifty-five thousand, two
fourteen thousand, eleven
11,602

92,314

57,012

60,245

82,001

6, 20, 300, 5,000, 10,000

7. 10, 200, 8,000, 50,000

5, 30, 0, 8,000, 70,000

0, 20, 400, 1,000, 80,000

fen thousands

tens

8

0

(a) 80,000/80 thousands
(b} 1,000/1 thousand

{c} 200/2 hundreds

(d} 40/4tens

(e} 4/6 ones

2

1

3

6

3,000

10

9,000

100

80,000

49,541

98,075

13,689

2,173

1,35%, 1,593, 5,319, 5,931
12,643, 14,632, 24,163, 41,562
4,586, 4,685, 6,845, 8,564
7,410, 7,014, 1,740, 1,407
96,248, 63,892, 39,628, 26,983
5,362, 5,236, 3,652, 2,653
286, 304

246 - 126 =20

20 + 266 = 286

20 + 286 = 306

33,055, 33,060
33.050-33045=5

5+ 33,050 = 33,055

5+ 33,055 = 33,060

Singapore Math Practice Level 4A

101

41, 7,530, 7,560
7,550 - 7,540 =10
7,540~ 10=7,530
7,550 + 10 =7,560

42. 90,455, 91,455
89,455 - 88,455 = 1,000
1,000 + 89,455 = 90,455
1,000 + 90,455 = 91,455

43. 43,012

43,112~ 100 = 43,012
44. 94,586

94,606 - 20 = 94,586
45. 20,096

18,096 + 2,000 = 20,096
46, 81,493

80,493 + 1,000 = 81,493
47. 18,475

24,475~ 3,000 = 18,475
48. 9.900

10,000 - 160 = 9,900
49. 10,381

6.000 + 4,381 = 10,38}
50.  90,09¢

99 + 90,000 = 90.099

Unlit 2: Whole Numbers (Part 2)

1. 770

2. 850

3. 660

4. 300

5. 1,090
6. 1,780
7. 39,920
8. 46,550
9. 11,200
10. 40,000
1. 500
12, 900
13. 3,100
14. 1,100
15, 6,900
16. 89,500
17. 23,900
18. 12,100
19. 61,300
20. 74,800

21. 40+10=50

22. 470+ 50=720
23. 70+ 730 =800
24, 930-20=910




25,
26.
27.
28.
29,
30.
31,
32
33.
34,
35,

36.

37.

38,

39.

40.

41,
42,
43.
44,
45,

44,

47.

48,

49,

50.

51

52,

53.

420 - 40 = 380

520 - 20 = 500

50 x 8 = 400
30x7=210

300 ~10= 270
70090 = 610
120+ 4 =30
320+5=464

460 + 90 + 550 = 1,100
880 + 120 + 40 = 1,040

1,12

2,6

3. 4

1,2, 3,4 612

1,42

2,21

3,14

6,7

1.2,3,6,7,14, 21,42
1,36

2,18

3,12

4,9

6,6
1.2,3,4,6,9,12,18, 34
fa} 1,2,4.8

b} 1,2,4,8 14

{c} 1,2,4,8

{a}) 1,2,7,14

(b} 1.2,4,7.14,28
(c) 1.2,7, 14

(&) 1,3.9

{b) 1,2,3,6,9 18
{c}y 1,39

5, 10, 15, 20

9,18, 27

18

35

(a} 2,4,6,8 10,12
(b) 3,6,9 12,1518
{c} 6,12

{a} 4,8,12,14, 20, 24

{b} 8,16, 24, 32, 40, 48

(c] 8,16, 24

13,800 + 25,300 = 39,100 km

25,000-7,982 = 17,018
17,018 = 17,020

1,345 + 7,609 = 8,954
8,954 = 8,260 books
1,124 + 259 = 1,383
1,124 + 1,383 = 2,507
2,507 = 2,500 studenis
10

The factorsof 10 are 1, 2, 5, and 10.

54
56=8x7
24
§x3 =24
48 =2 x 24

102

54,

55.

8

32=4x%8

2and7

2=x7=14

2x14=28

7% 4=28

The multiplesof 2are 2, 4, 6. 8,10, 12, , 16,18, 20, 22,

24, 26, (28), 30, ...
The multiples of 7 are 7, . 21, , 35, ...

The 2 one-digit numbers are 2 and 7.

Review 1

1.

(AR
12.
13.
14,

16.
17.

(1)

72,845 is seventy-two thousand, eight hundred,
forty-five.

(2)

The digit 8 stands for 8,000/8 thousands.
(1}

18+8=2R2 1I8+46=3
24+8=23 24+6=4
72+8=9 72+6=12
144+ 8=18 144 + 6 =24
Therefore 18 is not o common multiple of 8 and é.
(3)

1,987 + 5,248 = 1,990 + 5,250 = 7,240

(2)

Factorsof 28: 1,2, 4,7, 14, 28
Factorsof 36: 1,2, 3,4, 6,9, 12,18, 34
The common factors of 28 and 36 are |, 2, and 4.
(3)

7.030 - 6,020 = 1,010

9.050 - 1,010 = 8,040

(m

10,000 - 2,000 = 8,000

8.000 - 2,000 = 6,000

2,000 + 1,000 = 3,000

2,000 + 800 = 2,800

(2)

The first four mulliples of 7 are 7, 14, 21, and 28.
(3)

49,753 = 40,000 + 9,000 + 700 + 50+ 3
40,000 is 4 ten thousands.

(m

400 x ¢ = 3,600

foriy-nine thousand, five

thousands

15,005, 15,050, 15,500

1,520

559 + 19 + 942 = 540 + 20 + 940 = 1,520
43

7%9=63

89,100

50,907

50,000 + 900 + 7 = 50,907

1.3,5.9.15, 45

] % 45 =45

3x15=45

5x9 =45
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20.

The factors of 45 are 1. 3, 5. 9, 15, and 45,
0

18,360 + 2,598 = 20,958

12 and 24

Mulfiples of 4: 4,8, (12), 16, 20, (24), 28, ...

Muttiples of 6: 6, (12), 18, 24), 30, 36, 42, 48, ...

Unit 3: Whole Numbers {Part 3)

1.

10.

13.

412

x 4

L4648
1

547

x 2

1,094

610
x 5
3050
9535
x 3
2,805
&
109
R
763
1 1 4
5317
x 6
31,902
2,011
x 8
16,088
2 7
6,028
x 9
54252
2 13
1,526
*x 5
7.6 30
a 2 5
8,437
x .8
§7,494&

x
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15.

18.

19.

20.

21.

22,
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23.

24,

25.

26.

27.
28.
29.
30,
3t
32.

33

34,

35,

N
|00 o
[l fr ]

CoCo <o~

18, 2, 36, 340
69, 4,276, 2,760
98, 3, 294, 2,940
53, 6, 318, 3,180
77,9, 693, 6,930
42, 8, 336, 3,360
57111

269, 3

605, 5

104

36.

37.

38.
39.
40,
41,
42,
43,

44,

45,

46,

47.

48,

492,

50.

783, 2 783
4} 3134
28
33
32
1 4
12
2
1042, 3 1,042
9]9.381
7
3
0
38
34
21
40, 20, 1,200 L3
400, 60, 36,000
900, 30, 27,000
240, 48
4,900, 700
8,100, 900
2
{a} 4,368 84
{b} 80 % 50=4,000 x 52
{c] Yes 1 &8
420
4,368
g
(o) 38,037 409
{b} 400 = 90 = 34,000 o 93
{c) Yes 1227
3681
{c] 37,088 3 8,8 ? 7
{b) 1,000 = 40 = 40,000 g ¢
(¢} Yes
x 38
7808
faj SR3 2928
43+8=5R3 1T S
(b} 40+8=5
{c] Yes
() 89R4 89
(b) 540+ 6 =90 6J538
{c} Yes 48
2,191 >8
fa} 2,191R1 . 54
(b} 8800+ 4= 2,200 48765 1
{c] Yes . B
7
4
36
36
5
4
]
1T i
- — 2535
{2ssfass]assluss|2ssiasslass]zas]2nsfassizss]2sy] % 12
510
12 x 255 = 3,060 255
3060

There are 3,060 balloons in a dozen packets,
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51.

52

53.

54,

55.

56.

57.

58,

2078 325 325
EREEEEE 7J2275  x 3
P—— 21 75
! 17
2,275+ 7 =325 mmmim%mgw
3x325=975 35
0
H makes 975 waiches in 3 days.
shits [ 3263 | gos3 | 3253 | ¢2s3 | )
Ties ‘
4% 3253 = $1,012 53 78
3% $78 = %234 x 4 % 3
$1,012 + $234 = $1,246 1,012 234
He spent §1,246 alfogether,
2276 69 .
6 : : : ‘l 4276 69
S U A T }? 24 x 7
oeses [ [T ] 36 483
$276 + 4 = $69 2L
7 % $69 = $483
Anna spends $483 on the bag and 3 dresses.

: 35
[35]35]as]as] 219 ] « 4
4% 35= 140 140
140 + 219 = 359
Jasen had 359 marbles io begin with,

2
800
[114] 686 ] y 17
114 + 686 = 800 5600
800 x $17 = $13,600 800
$13,600 was collected in ail. 134600
7
- 840
{240 [ a0 |00 [ a0 [Ran [ae0 [ n4n | x 7
7 x 840 = 5,880 5880
He bokes 5,880 loaves of bread in a week,
? 5 4
= 5880
[ 5880 | 5880 [ 5a80 | 5880 | 5880 s8a0 | N 5
é % 5,880 = 35,280 35280
He will bake 35,280 loaves of bread in é weeks.
894 182
[s0]sefs0[se[s0is0[s0] 2 [ 2] 2 | 33 46
7 » 50 = 350 24
894 - 350 = 546 24
546+ 3= 182 6
There are 182 stickers in each album. w—g—
(a) 25 = 400 = 10,000 400
The principal bought 10,000 pieces x 55
of candy altogether. 55070

(b} 2,000 % 7 = 14,000 800
14,000 — 10,000 = 4,000 10,000
4,000+ 400 =40+ 4 =10
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59,

40.

41,

62,

63.

64,

If each child was given 7 pieces, 10 more packages
of candy were needed.

Use 'Guess and Check' method.

Guess Her mother's Kimi's Is her mother 5 times
age age as old as Helen?
1 A44-4=40 | 164712 40+12=3R4
2 44-8=36 | 16-8=8 3618 =4R 4
44-9=35 | 16-9=7 35+7 =5

Kimi's mother was five fimes as ofd as Helen ¢ years
ago.

5% 3328 Lig 205
8/1,6490
CECEeEE « s Y
1,640 B
5% $328 = $1,640 0
$1,640 + 8 = $205 B
He must pay $205 for them 4 8
each month.
$3600 1,640
Mw‘chaeig : &32(1 2J 32, 280
?
12
$3,600 - $320 = $3,280 g
$3.280 + 2 = $1,640 8
Cynlhia had $1,640. 2
$3,600 + $1,640 = $5,240 0

The total amount of money they had was $5,240 in
the heginning.

52
ws 5 e [P [rlr])
cotos [_5_J P[] @
]
?
$4+2=$2

Fach pen cost $2.
$12- (4= 3$2) =4
The cost of the book was $4,

250 % $12 = $3,000 250 435
$3,000 was collected from x 12 9)3,915
the sale of alt the adult fickets. ~ 500 36
$6,915 - $3.000 = $3,915 250 31
$3,915 + §9 = 435 3.000 27
435 children went fo the zoo. j g
$1.350 - $400 = $950 ¢]
Each of his six children received $950. 3
$2,000 + (6 x $950) + $1,350 7o 2
= $2,000 + $5,700 + $1,350 5700
= $9.050 ’

His bonus was $9,050.

Unit 4: line Graphs and Tables

1.

2.

3.

105

11 birds

30-8-3-8=11

birds

Mario saw 1] birds in the park.
cats

Mario saw 3 cats in the park.




18,

20.

21.

22.

23.

24,

25.

26.

27.

3 more birds
11-8=3
18 animals
3+5+4=12
30-12=18
Months Number of mobite phones sold
November 65
December 30
January 75
February 50
March A0
January

He sold 75 mobile phones in January.
20 more mobile phones

50-30=20

140 mobile phones

75+ 65= 140

80 mobile phones

40 x2=80

$9,180

50 + 40 =90

90 x $102 = $9,180

150 students

2006

250 students tock the school bus in 2006,
100 students

225-125=100
125 students
250~ 125=125
750 students
250 +150 + 125+ 225 = 750
Name Amount of money collected
Mandy $270
Kim $140
Felix $260
Ratana $200
Robert $130
Janice $140

Mandy and Felix

Mandy collected $270 and Felix collected $240.
Kim and Janice

Both collected $140.

Felix

$130 x 2 = $2460

$1,140

$270 + $140 + $260 + $200 + $130 + $140 = $1,140
5840

$2.000 - $1,140 = $860

3rd week

There were 500 visitors in the 3rd week.
2,250 visitors

2.750 - 500 = 2,250

1,750 visitors

3.500-1,750=1,750

3,000 visitors

3.500 - 500 = 3,000

§76,500

3.500 + 1,750 + 500 + 2,750 = 8,500
8.500 x $9 = $76,500

106

Review 2

1.

10,

T

15,

21
{4) 39 24 3
% 57
6601
47185
53,751
{4) 725
IOJ 7.2 56
70
(2) 25
140 + 142 + 136 = 418 20
557 - 418=139cm T 54
(2) 50
139~ 136 =3cm 6
(3)
Felicia’s test score in mathematics in March was 55.
2)
80~70=10 .
)]
Felicia scored 80 in mathematics in February.
414
+8=52
0=52x%x8=416
5,400
1,785 % 3=1,800 = 3 = 5,400
1,530R 3 1,530
4J6,1 23
4
21
20
250 Indoneslan stamps ; % i
394 + 125+ 178 = 497 3
Q47 — 697 = 250 g

62% coins
127 + 245+ 169 + 88 = 629
318 more stamps

947 — 629 = 318
17,015 4
2035
x 83
615
1640
17,015
289 989
8)}773 P é
71
6.4
76
7 2
4
Biggerboxi 1120
900 - 120 =780
780+ 2 =390

There were 390 pens in the smaller box.

36 x $159 = $5,724
$8.000 ~ $5,724 = $2,276
He eamed $2,276.
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20.

Tei b v 1
:

Reta !
Veronica
1,230+ 6 = 205
205 % ¢ = 1,845

The three children have 1,845 beads alfogether.

3.000- 54 = 2,946
2,946 x $9 = $26,514
The publisher made $26,514 from the sale of the books.

(a) 7

[1.a95]1.a9511.395 [ 1.395] 1.395] 1,395 ] 1.395] 1,395]

8x1395=11,160
The factory can make 11,180 remote-controlled
cars in eighi weeks.

40,455

Gonanoaan

40,455 + 9 = 4,495
The factory must make 4,495 remote-controlled
cars in a week.

(b)

Unit 5: Fractions

1.

2
3
4
5.
4
7
8
9

10.
11.

12.
13.
14.
15.
16.

20.

21,

p- ~ -~ o o~ [#A)
o ~0| B o[t ~en ;|_. ENEY XY SR

[

|=en

| whole = 2 halves
2x2=4

10

1 whole = 3 thirds
(3=x3)+1=10

62
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22,

23.

24,

26.

27.

28.
29.

30.

31,

32.

33.

34.

35,

36.

37.

38,

39.

40.

41.

42,

43,

44,

45,

46.

47.

48.

1 whole = 11 elevenths

(5x11)+7 =62

21

1 whole = 12 twelfths
{1 xi2]+9=2]

61

1 whole = 7 sevenths
(8x7)+5=461

19

1 whole = 4 quarfers
43=(4x 4 r3=19

11
1 whole = 6 sixths

(1%6)+5=11
75

i whole = 8 eighths

(9 x8) +3=75
67

i whole = 10 fenths

(6% 10) + 7 = 67
159

244
4,9

7 b7
146

5 5 2

t_2.1_3
1575%v5%%
3_10,3 _13
5057016710
3.8,3_11
24547474
3_20,3_23
455 "5
1_42,1_43
676 678
2_24 2_126
833 %v373

5.24, 56_29
38 88

7 36,7 _43
R RED T
4_72 . 4.176
89=9 v 9779

4_14 4_18
2955 15=7
1310 .1, 1_¢1
VR, 412—5+2 52
9_8, 15,1 .91
4744722y
5
5=1
16

=g
37_.35 2_45,2_452
Eww5+5u/+5—75
12 _

Z=4

5.8, 7_ L _q7
§"8+8_I+8"]8
17 12, 0.5,9_45
?"6+6_2+6_26




49,
50,
51,
52.
53,
54,
55.
56.
57.
58,
59.
&0,
é1.
62,
63.
é4.
45,

66,

67,

68.

69,

70.

/1.

72.

73.

74,

75.

76.

77.

23_18_.5_..5_.,5
66 TgT3tgT3y
38_.36,2_,.2_,2
g =9 toTate=4y
2,.4_6_,1
5t5 5715
2,4_6.4_10_.1
3t9 gt g =1y
3,136 13_1%9_.5
7P AT TAT AT T4 g
29,3 _5.6_11_.3
8178878 "3
J 2.9 _7 .4 9 _20
12 e 12T T2
1,3 9 _5.,3,9 _17
201w 0067 10
2,727,171 4 7. 2_13_,5
4§ 4"g%g 8 8 " g
1,3.5_3 3, 5_11_,2
379t oteteT g 713
2_48_ 2_46_ .6 _ 3
6-8 88" 8 -°8 =53
S _120 5 _ 115 _, 7
1099792 -12" 72 = "12
8 2.6_2
9°57973
9 1_9 5_4_2
10°2°70°70°-10"§
6 _1_,6 3_,3_4,1
29-3=29-9=25=23
9 2,9 & _,3_,1
927474927127 412= %,
LY e 7 3 _ 4 _.1
1374012797275
;9270 9 4 5 _,
10°5710 10" 70"
7
%xm=14
1
1 ?
;87*72:9
}
5 9
/(?X,S’?:cls
|
4 13
E/XES:SZ
H
2
75 x 20 =18
i
8
Sx48=40
H
Q
/%xéézﬂ
1
3« 5h=39
/?/ 3
/§/><Z7=12
L 3 1a
1, 4.
A
p_3.8 3_5
887878

108

78.

79.

80.

81.

82.

83.

84,

85.

86,

87.

88.

She had g of the cake left.
7 1.7 2.

12 6712792712 5
The mass of fhe sand in the canis 3% 12 ib.
§+i+ 9 50+ 454
6 1074607 60 6{)

_ho_ §

=60 le,o 3

The total mass of the three boxes is 1% kg.
1,5.3,5_8

o~

b, }

S
K]
\w 5,'
o)
o

l

N
tg=
3.40
5‘8

l. of cooking oil left. i

3,3_

4 8
7.9

]28"8”] ]8

She cycled 11 Hkm.

8
She had 4

6

8

573
7 6_

3
Hg=

5
8
3
8
2 4

1

16+ 24 +20=460

There are 60 beads in a box.

20 1

40 3

%of the beads in the box are blue.

3
Lakam
i
3x5=15mi
He has to travel 15 mites in order to reach Town B.
a2

32+8=4

Ix4=12

Tara ate 12 chocolates.
50

Singapore Math Practice Level 4/



{a) 28+15+7=50

Farmer Bill had 50 birds.

50+5=10

4% 10 = 40

He sold 40 birds in all.
(b} 28-12=16é

He had 16 chickens left.

16 _4

28 7

% of the chickens were left.
]_§_1_8 5 2_1

89. 1-§-4787878"%
i 71
Fxﬁﬁg“—“ﬂ

1
There were 71 children af the concert.

90. 2360
£ $60+2=$30
3% $30 =390
lsabel received $90.

Unit é: Angles

i. ZABC = 2y
LZACB = £x
LBAC =22

2. Zd = Z8RQ / £ZQRS
Ze = 0S8R/ ZRSO
Zf = Z80P [ ZPOS
g = Z0PQ [ £QPO
Zh= ZPQR [/ £ZRQP

3. £b, Zc, zd, £f
4, £, L

Estimated value Actucl measurement
5. Za = 100° 20 =98¢
6. b =70° Zb = §2°
7. £ZPQR = 100° ZPQR = 105°
8. ZXWY = 120° LXWY = 126°
9.

_ls
10. /
11.

q

12.

_2/
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13.
14.
5.
16.
17.

18,
19.

20.

21.

13/ quarter

180
%/ihree-quurter
4

1/ Halt

}; / Quarter

Tony: north
Aaron: northeast
Susan: east
Jasmin: southeast
Maggie: south
Sam: southwest
Mallik: west
Zack: northwest
[} northwest
(b} southeast
¢} west

(d} east

(e} north

(f} east

(g) northeast
[} southwest
{o) 225

(o) 180

{c] 270

[d} 45

{e) %/ quarter

{f) %/fhree-quuder

Review 3

1.

(3)
o L-54,7

_ 61
LA s

(4)
Shaded friangles 7

Totat tricngles  ~ 12
(1)
7" 98 =08

1
(3)

t whotle = 6 sixths
(5x6)+1=3]
(3)
LZa=18°




10. %/‘Ehree-quurter
1 3.8 4 3_1

l] ]’—*img:g—g_g:g
12, ZXIY [ 2¥YIX
3 -73.q1g3
3. ZXQS_. ) —1841
14,  Andy
15, 135°
16,
B?ys g §}32
Girls 2
32-8=24
24+2=12
There were 12 girls.
8_2
1273
% of the girls wore glasses at the party.
3

7. g% 104=39
There were 39 women.
104 - 39 - 28 = 37
There were 37 men.
18. 25496

% $96+ 4 = $24

2_46
*7=7

— 6x324=5144
She spent $144 in o,
— P
20. la) southeast/ SE

(b} north/N

{c) northeast / NE

(d} northwest / NW
(e} west/W

~HON s

Unit 7: Perpendicular and Parallel Lines

L \<
&
2. C
D
7\
3. (o} & {b)

X

110

10.

(a) & {b)
G,
){ |
* H
M
\\
N
W

{a} & (bj

&<

X

{a) B //HC,JB//GD, JB //FE HC // GD, \
HC // FE, GD // FE, AK // CL "
fb) AK L JB, AKLHC, AK L GD, AK L FE, :
CL L1 GD, CLLFE LC LHC |

(c & (o)

L @ A,

1,

{a} AB, GH, EF, DC
{b} EA, DG, FB, CH
(a) verlical

(b} horizontai

{c} vertical

{d) horlzontal

Unit 8: Rectangles and Squares

1.

(@) rectangle

{b} Hhasfoursides. / I has two pairs of paralletlines. /
Allfour angles are right angles. / lIts opposite sides
are equal,

{a} rectangle

(b} Ihasfoursides. /it has two pairs of parallel lines. /
Allfour angles are right angles. / Its opposite sldes
are equal.

{al square

{b} Ithas foursides. / All four sides are equal. / it has
fwo pairs of parallel lines. / Allfour angles are right
angles,

3
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5.

6. x=12
y=5

7. X=40+5=8
y =40

8. x=10
v =10

2. 90° — 15° = 75°

10, 90°-25°-18°=47°
1. 90°-—62°-8°=20°

12, 90°-67°-10°=13°
13, 90°-31°-13°=44°
14, AB=5+8+5=18in.
AH = 8in.

AH has the same length as BC.
DF=10+10+15=35ecm
EF=10+15=25cm
EF=32-11-4=17ft.
DE=21-8-5=8H#.
ML={16+8)-16=8cm
AB=16+8+8=32cm
BC=18-8-6=4In,
EF=33-15=18in.

18,

Review 4

o)
2. (2)

3. 1)
17-3=14cm
4, (1)
90° — 26° - 48° = 14°
5. {3)
48+ 2=24cm
6. (3}
24-13=11cm
7. (2)
(3
g, (n
X

c

Y

(2)

There are 3 horizontal fines in the figure.

EF

34°

0% 18° = 72°

72°+2 =34

H has four sides. / All four sides are equal, / It has
fwo palrs of parallel fines, / All four angles are rght
angles.

1.
12,
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15,
1é.

17.

18.
19.

20.

251n.

108~ 83 = 25in.

AH // DE and AH // FG
{a} parallel / vertical
(b} parailel / horizontal
(a) herizontal

(b) vertical

BC

Accept other comect answers.

G

Final Review

i

10.

(4)

1,500 + 86,576 = 88,076
(3)

The number 0 is in the hundreds place.
(2)

(3)

2x33=66

3x22=44

6% 11 =66

(3)

2,004 = 2,000

{4)

I whole = 4 quarters
(5x4}+3=23

(3)

Thurscoy o

[(nese [ 659 [ 1859 |}

Friday

4% 1,659 = 6,636

(4)

$40 + $10 = $50
Anya had $50 af first,
40 _ 4

50 5

(4)

90+ 81 +75= 246
(4)

90— 63 =27




15.
16.

20.
21,

22.

23.
24.

25.

26.

27.
28.

29.

{2)

(4)

(2)
3x8=24
(2)
SR=15-3=

12 yd.
QR = 3R = 12 yd.

(4)

14,000 + 58,750 = 72,750

(3)
6
9

§JT 489

0\0\00-!2-—‘
b G o o
—iC0~0

(1

28,164

20,000 + 5,000 + 3,100 + 60 + 4 = 28,164
35,150

35,310 - 35,230 = 80

35,070 + 80 = 35,150

%/ half
19,684

g
QOO PO Lo—

o

X

E=N e B N

1
]

ol W
OO N

v

Jand 7

The multiples of 3 are 3, 6, 9. 12, 15, 18, (21), 24, 27, 30,

33, 36, 39, (42), 45, 48, 51, ..
The muliiples of 7 are 7, 14, @ 28, 35, , 49, 56, ...

58_54 4_, 4 _o4_o2
§° 6787177770
440
X

C

D
£a=90° - 550~ 18°= 17°
£0 = 90° - 28° = 62°

112

30.
31.

32.

33.

34.

35.
35.

37.

38.

39.
40.

41.

42,

43,

4,9

=3+70 %0

INicholus

2,9
3+-5"+ 6

(I
I P

Ice

Susie |—o"
[

I

[
i____zlw7 |
105 10 5251

Day Number of potls of lowers
Monday 14
Tuesday 12
Wednasday 18
Thursday 20
Friday 24

g0

16 +12+18+20+24 =90

421 +8=400+8 = 50
2

aR

187

O+7=26R5
[=7x26+5=187

2 1b.

1~

=143}

i
&
1 2

grZ=2

1

2,055 = 7 =9,000 x 7 = 63,000

2707

8 % $630 = $5,040
35,040

[

| stereo | let |
 ———
7 295 51853

$295 + $1,853 = $2,148
$5.040 — $2,148 = $2.892

The cost of the television set wos $2,892.

book
soceer ba 1$15
car| BT

3320
$230 - $198-315- %317

The cost of the bock is §17.

1, .2, 1.3
178787878
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44,

45,

Juan ate g of the pirza,
1. 3_8 2 3_3

P} L 99

4 88 8 88
Cindy ate % of the pizza.

7
Sx56=21
i
Esther gave 21 stickers to her sister.

56-21-18=17
She gave 17 stickers to her friend.

Use *Guess and Check’ methed,

Guess Mr. Popovic's | Granddavughter's: 15 Mr. Popovic 5 times us
age age old as her granddaughler?
o
] 78 e 78514=5R8
Yes
2 80 1é 80+16=5

Mr, Popovic will be five limes as old as his granddaughter
in 4 years' fime,

Challenge Questions

1.

Pay T{2]13]4|5]6|71]8

No.ofeggs| 5195|3548 |6t |75 |90

sold 104

RS S S S LN N . g S

H10 +11 412 413 +14 415 +16

shoni ] | ;}
lenny i 3 57
Enfique

57 +3 =60

0+6=10

10+4=14

Jenny will be 14 years old in four years.
Use ‘Guess and Check’ method.

A B A+B Check
29 5 sg x
29 4 75 p
28 5 53 %
28 4 7 x
26 4 b% x
25 4 b v

Ais25 and Bis 4.
second digit: 3x3=9

fourth digit: 2x3=46
third digit: F-6=3
first digit: 9-2=7
lasst digit: 7-2=5
lam 79,365
Use 'Guess and Check' method.
X Y product sum
10 | 40 10 % 40 = 400 10+ 48 = 50
20 | 30 | 20=30=600 20+30=50 |+

Xis 20 and Y is 30.
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6% 10=4640
Jason's scare in the test was &0.

il

Chet i i ! ! “L_:E}
172

Hugo

lason fw &0

172~ 60=112

112+7 =16

6% 16 =96

Chet's score in the test was 96,
Use 'Guess and Check’ method.

Number 1 | Number 2 | Quotlenl | Diference Check
10 120 12 110 x
1 132 12 121 %
12 144 12 132 v

The two numbers are 12 and 144 respectively.

Week i 2 3 4 5 4 7 8
Savings 321 84 | 36| 3B [ S0 51231416

24+ 54+ 36+ 38 +HB10+512+ 514+ 316=372

The bag costs $72.

Factors of 8are 1, 2, 4. and 8.

Isit x dth =4 x8=32

st dligit: 8 {the largest single digit for factors of 8)
4th digit: 4 {32 +8 = 4)

2nd digit: 1 {4-3=1)

3rd digit: 2

1 am 8,124,

First six multiples of 6 are 6, 12, 18, 24, 30, and 36.

10th multiple of 4is &0,
Hth multiple of 4 is 66,

6 30 ] 24 6+ 30+ 24 =60

18 12 | 38 18+ 12+ 34 = 64
Kr. Gaza E E g
Wrs, Gaszo i ?
Her sister $1285

7 % $1,255 = §8,785
12 % $8,785 = $105,420
The three of them earn $105,420 in a year.

12 = 30°

360° +
When the minute hand moves from one number to the
oiher, it turns 30°.

5 » 30° = 1 50°

The minute hand will point at 5 when tums 150°,
Sylvia eais her breakiast ot 8:25 AM,
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